BID TABULATION FOR:

BID OPENING DATE:
BID OPENING LOCATION:
TABULATION BY:
TABULATION DATE:
LIA JOB NO.

CONSTRUCTION OF THE PAVING & APPURTENANCES TO SERVE ANNISTON SECTION 14
HARRIS COUNTY MUNICIPAL UTILITY DISTRICT NO. 539
CITY OF HOUSTON E.T.J., HARRIS COUNTY, TEXAS
MARCH 05, 2025
LIA ENGINEERING, INC.
E. MURPHY
MARCH 05, 2025

0390-2342 (9.2)

BIDDER NAME	BASE BID
1) MH2 CONSTRUCTION SERVICES, LLC	\$605,172.46
2) DACO PAVING, INC.	\$628,000.00
3) CRACON, INC	\$644,808.30
4) BEYER CONSTRUCTION, LLC	\$674,852.15
5) RESHA CORPORATION	\$678,291.60
6) ELITE CONSTRUCTION AND ENGINEERING SERVICES, LLC	\$711,000.00
7) PRECISE SERVICES INC.	\$768,395.00
8) R CONSTRUCTION CIVIL, LLC	\$794,212.85

CALENDAR DAYS - 35/45



I, Christina Sison, PE, hereby certify these bid tabulations to be true and correct.

CONSTRUCTION OF THE PAVING & APPURTENANCES TO SERVE ANNISTON SECTION 14

HARRIS COUNTY MUNICIPAL UTILITY DISTRICT NO. 539 CITY OF HOUSTON E.T.J., HARRIS COUNTY, TEXAS MARCH 05, 2025 LIA ENGINEERING, INC. E. MURPHY MARCH 05, 2025 0390-2342 (9.2)

BID OPENING DATE:
BID OPENING LOCATION:
TABULATION BY:
TABULATION DATE:
LJA JOB NO.

			1) MH2 CONSTRUCTION SERVICES, LLC 2) DACO PAVING, INC.		AVING, INC.	3) CRACO	ON, INC	4) BEYER CONSTRUCTION, LLC		
NO. ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL
PAVING ITEMS FOR ANNISTON SECTION 14 1. ROADWAY AND LOT EXCAVATION, INCLUDING STRIPPINGS, STOCKPILIN OF STRIPPINGS, AND REAPPLICATION OF STRIPPINGS, COMPLETE IN PLA		5000	\$2.20	\$11,000.00	\$5.50	\$27,500.00	\$3.00	\$15,000.00	\$3.75	\$18,750.00
ROADWAY AND LOT EMBANKMENT, INCLUDES STRIPPINGS, STOCKPILIN OF STRIPPINGS, COMPACTION TO 95% STANDARD PROCTOR DENSITY, FINAL GRADING AND REAPPLICATION, COMPLETE IN PLACE	G CY	5000	\$2.20	\$11,000.00	\$0.50	\$2,500.00	\$3.00	\$15,000.00	\$3.75	\$18,750.00
3. 6" REINFORCED CONCRETE PAVEMENT, MIN. 3,000 PSI COMPRESSIVE STRENGTH, COMPLETE IN PLACE	SY	8642	\$48.33	\$417,667.86	\$49.00	\$423,458.00	\$51.50	\$445,063.00	\$53.95	\$466,235.90
4. 6" LIME/FLY ASH STABILIZED SUBGRADE (MANIPULATION), COMPLETE I PLACE	N SY	9747	\$4.38	\$42,691.86	\$3.90	\$38,013.30	\$4.50	\$43,861.50	\$3.85	\$37,525.95
 HYDRATED LIME FOR STABILIZED SUBGRADE (3% BY WEIGHT) AS REQUI BY SOIL CONDITIONS AND APPROVED BY GEOTECHNICAL ENGINEER, COMPLETE IN PLACE 	RED TON	79	\$362.00	\$28,598.00	\$365.00	\$28,835.00	\$360.00	\$28,440.00	\$346.00	\$27,334.00
 FLY ASH FOR STABILIZED SUBGRADE (7% BY WEIGHT) AS REQUIRED BY S CONDITIONS AND APPROVED BY GEOTECHNICAL ENGINEER, COMPLETE PLACE 		184	\$180.00	\$33,120.00	\$150.00	\$27,600.00	\$140.00	\$25,760.00	\$125.00	\$23,000.00
7. 6" REINFORCED CONCRETE CURB, COMPLETE IN PLACE	LF	742	\$4.08	\$3,027.36	\$4.20	\$3,116.40	\$4.60	\$3,413.20	\$4.85	\$3,598.70
8. 4" X 12" REINFORCED CONCRETE CURB, COMPLETE IN PLACE	LF	4236	\$4.08	\$17,282.88	\$4.20	\$17,791.20	\$4.60	\$19,485.60	\$4.85	\$20,544.60
 PERMANENT TRAFFIC CONTROL DEVICES (INCLUDES ALL TRAFFIC BUTTO PAVEMENT STRIPING, STREET SIGNS, TRAFFIC SIGNS, AND BLACK PAINTI STREET SIGN POLES), COMPLETE IN PLACE 		1	\$3,800.00	\$3,800.00	\$2,274.00	\$2,274.00	\$4,800.00	\$4,800.00	\$4,750.00	\$4,750.00
10. TYPE 7 ADA RAMPS, COMPLETE IN PLACE	EA	4	\$1,668.00	\$6,672.00	\$1,600.00	\$6,400.00	\$1,800.00	\$7,200.00	\$1,350.00	\$5,400.00
11. REMOVAL AND DISPOSAL OF TYPE III BARRICADE, COMPLETE IN PLACE	EA	3	\$0.50	\$1.50	\$1.00	\$3.00	\$250.00	\$750.00	\$30.00	\$90.00
12. DOUBLE REFLECTORIZED BLUE FIRE HYDRANT BUTTONS, COMPLETE IN PLACE	EA	6	\$18.00	\$108.00	\$18.00	\$108.00	\$18.00	\$108.00	\$8.00	\$48.00
13. FINAL LOT GRADING, COMPLETE IN PLACE	LS	1	\$14,553.00	\$14,553.00	\$23,921.10	\$23,921.10	\$11,500.00	\$11,500.00	\$24,500.00	\$24,500.00
SUBTOTAL PAVING ITEMS FOR ANNISTON SECTION 14			_	\$589,522.46	_	\$601,520.00		\$620,381.30	_	\$650,527.15
MISCELLANEOUS ITEMS 1. ADJUSTMENTS TO EXISTING MANHOLES TO NEW FINISHED GRADE, INCLUDES LABOR AND MATERIALS FOR ALL WORK ON STORM AND SANITARY MANHOLES, (TO BE USED ONLY AS DIRECTED BY THE ENGINE) COMPLETE IN PLACE	EA	1	\$350.00	\$350.00	\$350.00	\$350.00	\$350.00	\$350.00	\$350.00	\$350.00
EXTRA CEMENT STABILIZED SAND BACKFILL (2.0 SACKS PER TON), (TO BE USED ONLY AS DIRECTED BY ENGINEER), COMPLETE IN PLACE	CY	100	\$20.00	\$2,000.00	\$20.00	\$2,000.00	\$20.00	\$2,000.00	\$20.00	\$2,000.00
3. AS-BUILT SURVEY OF ALL PAVEMENT HIGH POINTS, LOW POINTS, AND L CORNERS (93 LOTS TOTAL), INCLUDES AN EXHIBIT CERTIFIED BY A REGISTERED PROFESSIONAL LAND SURVEYOR IN THE STATE OF TEXAS, A WELL AS AN AUTOCAD FILE OF SURVEY, COMPLETE IN PLACE		1	\$5,700.00	\$5,700.00	\$4,000.00	\$4,000.00	\$8,000.00	\$8,000.00	\$6,050.00	\$6,050.00
 TEMPORARY TRAFFIC CONTROL DEVICES (INCLUDES ALL TRAFFIC BUTTO PAVEMENT STRIPING, STREET SIGNS, AND TRAFFIC SIGNS), COMPLETE II PLACE 		1	\$1,000.00	\$1,000.00	\$250.00	\$250.00	\$4,200.00	\$4,200.00	\$1,250.00	\$1,250.00 FRN F-138

FRN F-1386 LJA Engineering, Inc.

BID TABULATION FOR:

CONSTRUCTION OF THE PAVING & APPURTENANCES TO SERVE ANNISTON SECTION 14

BID OPENING DATE:
BID OPENING LOCATION:
TABULATION BY:
TABULATION DATE:
LJA JOB NO.

HARRIS COUNTY MUNICIPAL UTILITY DISTRICT NO. 539 CITY OF HOUSTON E.T.J., HARRIS COUNTY, TEXAS MARCH 05, 2025 LIA ENGINEERING, INC. E. MURPHY MARCH 05, 2025 0390-2342 (9.2)

			1) MH2 CONSTRUC	TION SERVICES, LLC	2) DACO PAVING, INC.		3) CRACON, INC		4) BEYER CONSTRUCTION, LLC	
NO. ITEM DESCRIPTION UI	INIT Q	TY	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL
CONSTRUCT, MAINTAIN, AND REMOVE STABILIZED CONSTRUCTION EXIT, COMPLETE IN PLACE	EA	1	\$1,500.00	\$1,500.00	\$1,500.00	\$1,500.00	\$0.00	\$0.00	\$1,500.00	\$1,500.00
STORM WATER POLLUTION PREVENTION PLAN COMPLIANCE AND INSPECTIONS, INCLUDING STREET SWEEPING AND CONCRETE WASHOUT, COMPLETE IN PLACE	LS	1	\$800.00	\$800.00	\$5,000.00	\$5,000.00	\$1,500.00	\$1,500.00	\$5,200.00	\$5,200.00
7. EXTRA STREET AND TRAFFIC SIGNS, (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	LS	1	\$100.00	\$100.00	\$950.00	\$950.00	\$802.00	\$802.00	\$300.00	\$300.00
8. EXTRA 4-INCH STRIPING (ALL COLORS), (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	LF	100	\$1.00	\$100.00	\$1.00	\$100.00	\$1.25	\$125.00	\$0.25	\$25.00
 EXTRA RAISED PAVEMENT MARKER (WHITE OR YELLOW), (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE 	EA	50	\$5.00	\$250.00	\$7.00	\$350.00	\$7.00	\$350.00	\$4.00	\$200.00
10. EXTRA FILTER FABRIC FENCE (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	LF	100	\$1.00	\$100.00	\$1.00	\$100.00	\$1.00	\$100.00	\$1.00	\$100.00
11. EXTRA HYDROMULCH SEEDING (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	AC	1	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00
12. EXTRA BROADCAST SEEDING, FERTILIZING AND WATER, (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	AC	1	\$650.00	\$650.00	\$650.00	\$650.00	\$650.00	\$650.00	\$650.00	\$650.00
 7'X8'X8" CONCRETE MAILBOX PAD WITH #3 AT 15" O.C.E.W. OR EQUAL, ON 2" BANK SAND BEDDING (AS DIRECTED BY ENGINEER, LOCATION TBD), COMPLETE IN PLACE 	EA	1	\$300.00	\$300.00	\$1,800.00	\$1,800.00	\$700.00	\$700.00	\$950.00	\$950.00
14. 10'X8'X8" CONCRETE MAILBOX PAD WITH #3 AT 15" O.C.E.W. OR EQUAL, ON 2" BANK SAND BEDDING (AS DIRECTED BY ENGINEER, LOCATION TBD), COMPLETE IN PLACE	EA	1	\$300.00	\$300.00	\$1,830.00	\$1,830.00	\$750.00	\$750.00	\$1,100.00	\$1,100.00
15. 13'X8'X8" CONCRETE MAILBOX PAD WITH #3 AT 15" O.C.E.W. OR EQUAL, ON 2" BANK SAND BEDDING (AS DIRECTED BY ENGINEER, LOCATION TBD), COMPLETE IN PLACE	EA	1	\$300.00	\$300.00	\$2,050.00	\$2,050.00	\$950.00	\$950.00	\$1,100.00	\$1,100.00
16. 15'X8'X8" CONCRETE MAILBOX PAD WITH #3 AT 15" O.C.E.W. OR EQUAL, ON 2" BANK SAND BEDDING (AS DIRECTED BY ENGINEER, LOCATION TBD), COMPLETE IN PLACE	EA	1	\$600.00	\$600.00	\$2,175.00	\$2,175.00	\$1,200.00	\$1,200.00	\$1,250.00	\$1,250.00
17. 18"X8"X8" CONCRETE MAILBOX PAD WITH #3 AT 15" O.C.E.W. OR EQUAL, ON 2" BANK SAND BEDDING (AS DIRECTED BY ENGINEER, LOCATION TBD), COMPLETE IN PLACE	EA	1	\$600.00	\$600.00	\$2,375.00	\$2,375.00	\$1,750.00	\$1,750.00	\$1,300.00	\$1,300.00
SUBTOTAL MISCELLANEOUS ITEMS			_	\$15,650.00	_	\$26,480.00	_	\$24,427.00	_	\$24,325.00
BID SUMMARY										
PAVING ITEMS FOR ANNISTON SECTION 14				\$589,522.46		\$601,520.00		\$620,381.30		\$650,527.15
MISCELLANEOUS ITEMS				\$15,650.00		\$26,480.00		\$24,427.00		\$24,325.00
TOTAL AMOUNT BASE BID				\$605,172.46		\$628,000.00		\$644,808.30		\$674,852.15

CONSTRUCTION OF THE PAVING & APPURTENANCES TO SERVE ANNISTON SECTION 14

HARRIS COUNTY MUNICIPAL UTILITY DISTRICT NO. 539
CITY OF HOUSTON E.T.J., HARRIS COUNTY, TEXAS
MARCH 05, 2025
LJA ENGINEERING, INC.
E. MURPHY
MARCH 05, 2025

0390-2342 (9.2)

BID OPENING DATE:
BID OPENING LOCATION:
TABULATION BY:
TABULATION DATE:
LJA JOB NO.

				5) RESHA CORPORATION		6) ELITE CONSTRUCTION AND ENGINEERING SERVICES, LLC		7) PRECISE SERVICES INC.		8) R CONSTRUCTION CIVIL, LLC	
NO.	ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL
	ITEMS FOR ANNISTON SECTION 14 ROADWAY AND LOT EXCAVATION, INCLUDING STRIPPINGS, STOCKPILING OF STRIPPINGS, AND REAPPLICATION OF STRIPPINGS, COMPLETE IN PLACE	CY	5000	\$4.20	\$21,000.00	\$5.00	\$25,000.00	\$3.50	\$17,500.00	\$3.00	\$15,000.00
2	ROADWAY AND LOT EMBANKMENT, INCLUDES STRIPPINGS, STOCKPILING OF STRIPPINGS, COMPACTION TO 95% STANDARD PROCTOR DENSITY, FINAL GRADING AND REAPPLICATION, COMPLETE IN PLACE	CY	5000	\$4.00	\$20,000.00	\$3.00	\$15,000.00	\$3.50	\$17,500.00	\$5.20	\$26,000.00
3	. 6" REINFORCED CONCRETE PAVEMENT, MIN. 3,000 PSI COMPRESSIVE STRENGTH, COMPLETE IN PLACE	SY	8642	\$54.45	\$470,556.90	\$54.00	\$466,668.00	\$59.25	\$512,038.50	\$59.50	\$514,199.00
4	. 6" LIME/FLY ASH STABILIZED SUBGRADE (MANIPULATION), COMPLETE IN PLACE	SY	9747	\$4.10	\$39,962.70	\$6.00	\$58,482.00	\$6.00	\$58,482.00	\$4.95	\$48,247.65
5	. HYDRATED LIME FOR STABILIZED SUBGRADE (3% BY WEIGHT) AS REQUIRED BY SOIL CONDITIONS AND APPROVED BY GEOTECHNICAL ENGINEER, COMPLETE IN PLACE	TON	79	\$375.00	\$29,625.00	\$350.00	\$27,650.00	\$345.00	\$27,255.00	\$395.00	\$31,205.00
6	FLY ASH FOR STABILIZED SUBGRADE (7% BY WEIGHT) AS REQUIRED BY SOIL CONDITIONS AND APPROVED BY GEOTECHNICAL ENGINEER, COMPLETE IN PLACE	TON	184	\$170.00	\$31,280.00	\$155.00	\$28,520.00	\$135.00	\$24,840.00	\$190.00	\$34,960.00
7	6" REINFORCED CONCRETE CURB, COMPLETE IN PLACE	LF	742	\$3.00	\$2,226.00	\$4.50	\$3,339.00	\$5.25	\$3,895.50	\$4.40	\$3,264.80
8	4" X 12" REINFORCED CONCRETE CURB, COMPLETE IN PLACE	LF	4236	\$3.50	\$14,826.00	\$4.00	\$16,944.00	\$5.25	\$22,239.00	\$4.40	\$18,638.40
9	PERMANENT TRAFFIC CONTROL DEVICES (INCLUDES ALL TRAFFIC BUTTONS, PAVEMENT STRIPING, STREET SIGNS, TRAFFIC SIGNS, AND BLACK PAINTED STREET SIGN POLES), COMPLETE IN PLACE	LS	1	\$7,186.00	\$7,186.00	\$5,500.00	\$5,500.00	\$5,850.00	\$5,850.00	\$4,200.00	\$4,200.00
10	. TYPE 7 ADA RAMPS, COMPLETE IN PLACE	EA	4	\$1,200.00	\$4,800.00	\$1,500.00	\$6,000.00	\$1,850.00	\$7,400.00	\$2,300.00	\$9,200.00
11	. REMOVAL AND DISPOSAL OF TYPE III BARRICADE, COMPLETE IN PLACE	EA	3	\$1.00	\$3.00	\$200.00	\$600.00	\$100.00	\$300.00	\$100.00	\$300.00
12	DOUBLE REFLECTORIZED BLUE FIRE HYDRANT BUTTONS, COMPLETE IN PLACE	EA	6	\$15.00	\$90.00	\$25.00	\$150.00	\$20.00	\$120.00	\$18.00	\$108.00
13	. FINAL LOT GRADING, COMPLETE IN PLACE	LS	1	\$10,000.00	\$10,000.00	\$18,102.00	\$18,102.00	\$26,500.00	\$26,500.00	\$30,000.00	\$30,000.00
SUBTO	AL PAVING ITEMS FOR ANNISTON SECTION 14			_	\$651,555.60		\$671,955.00	_	\$723,920.00		\$735,322.85
	LANEOUS ITEMS ADJUSTMENTS TO EXISTING MANHOLES TO NEW FINISHED GRADE, INCLUDES LABOR AND MATERIALS FOR ALL WORK ON STORM AND SANITARY MANHOLES, (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	EA	1	\$350.00	\$350.00	\$350.00	\$350.00	\$350.00	\$350.00	\$800.00	\$800.00
2	EXTRA CEMENT STABILIZED SAND BACKFILL (2.0 SACKS PER TON), (TO BE USED ONLY AS DIRECTED BY ENGINEER), COMPLETE IN PLACE	CY	100	\$20.00	\$2,000.00	\$60.00	\$6,000.00	\$20.00	\$2,000.00	\$45.00	\$4,500.00
3	AS-BUILT SURVEY OF ALL PAVEMENT HIGH POINTS, LOW POINTS, AND LOT CORNERS (93 LOTS TOTAL), INCLUDES AN EXHIBIT CERTIFIED BY A REGISTERED PROFESSIONAL LAND SURVEYOR IN THE STATE OF TEXAS, AS WELL AS AN AUTOCAD FILE OF SURVEY, COMPLETE IN PLACE	LS	1	\$5,000.00	\$5,000.00	\$12,500.00	\$12,500.00	\$9,500.00	\$9,500.00	\$15,000.00	\$15,000.00
4	TEMPORARY TRAFFIC CONTROL DEVICES (INCLUDES ALL TRAFFIC BUTTONS, PAVEMENT STRIPING, STREET SIGNS, AND TRAFFIC SIGNS), COMPLETE IN PLACE	LS	1	\$7,186.00	\$7,186.00	\$750.00	\$750.00	\$7,650.00	\$7,650.00	\$2,100.00	\$2,100.00 FRN F-1386

FRN F-1386 LJA Engineering, Inc.

BID TABULATION FOR:

CONSTRUCTION OF THE PAVING & APPURTENANCES TO SERVE ANNISTON SECTION 14

BID OPENING DATE:
BID OPENING LOCATION:
TABULATION BY:
TABULATION DATE:
LJA JOB NO.

HARRIS COUNTY MUNICIPAL UTILITY DISTRICT NO. 539 CITY OF HOUSTON E.T.J., HARRIS COUNTY, TEXAS MARCH 05, 2025 LIA ENGINEERING, INC. E. MURPHY MARCH 05, 2025 0390-2342 (9.2)

			5) RESHA CORPORATION		6) ELITE CONSTRUCTION AND ENGINEERING SERVICES, LLC		7) PRECISE SERVICES INC.		8) R CONSTRUCTION CIVIL, LLC	
NO. ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL
5. CONSTRUCT, MAINTAIN, AND REMOVE STABILIZED CONSTRUCTION EX COMPLETE IN PLACE	IT, EA	1	\$1,500.00	\$1,500.00	\$3,500.00	\$3,500.00	\$2,000.00	\$2,000.00	\$1,500.00	\$1,500.00
STORM WATER POLLUTION PREVENTION PLAN COMPLIANCE AND INSPECTIONS, INCLUDING STREET SWEEPING AND CONCRETE WASHO COMPLETE IN PLACE	LS JT,	1	\$5,000.00	\$5,000.00	\$3,895.00	\$3,895.00	\$1,500.00	\$1,500.00	\$2,500.00	\$2,500.00
EXTRA STREET AND TRAFFIC SIGNS, (TO BE USED ONLY AS DIRECTED B ENGINEER), COMPLETE IN PLACE	THE LS	1	\$100.00	\$100.00	\$750.00	\$750.00	\$700.00	\$700.00	\$800.00	\$800.00
8. EXTRA 4-INCH STRIPING (ALL COLORS), (TO BE USED ONLY AS DIRECTE THE ENGINEER), COMPLETE IN PLACE	D BY LF	100	\$1.00	\$100.00	\$5.00	\$500.00	\$1.00	\$100.00	\$5.00	\$500.00
EXTRA RAISED PAVEMENT MARKER (WHITE OR YELLOW), (TO BE USED AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	ONLY EA	50	\$5.00	\$250.00	\$10.00	\$500.00	\$6.00	\$300.00	\$10.00	\$500.00
10. EXTRA FILTER FABRIC FENCE (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	LF	100	\$1.00	\$100.00	\$3.50	\$350.00	\$1.00	\$100.00	\$2.40	\$240.00
11. EXTRA HYDROMULCH SEEDING (TO BE USED ONLY AS DIRECTED BY TH ENGINEER), COMPLETE IN PLACE	E AC	1	\$1,000.00	\$1,000.00	\$1,750.00	\$1,750.00	\$2,500.00	\$2,500.00	\$1,800.00	\$1,800.00
 EXTRA BROADCAST SEEDING, FERTILIZING AND WATER, (TO BE USED OF AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE 	ONLY AC	1	\$650.00	\$650.00	\$850.00	\$850.00	\$1,250.00	\$1,250.00	\$750.00	\$750.00
 7'X8'X8" CONCRETE MAILBOX PAD WITH #3 AT 15" O.C.E.W. OR EQUA 2" BANK SAND BEDDING (AS DIRECTED BY ENGINEER, LOCATION TBD), COMPLETE IN PLACE 	L, ON EA	1	\$300.00	\$300.00	\$750.00	\$750.00	\$2,100.00	\$2,100.00	\$3,000.00	\$3,000.00
14. 10'X8'X8" CONCRETE MAILBOX PAD WITH #3 AT 15" O.C.E.W. OR EQU ON 2" BANK SAND BEDDING (AS DIRECTED BY ENGINEER, LOCATION T COMPLETE IN PLACE		1	\$500.00	\$500.00	\$1,200.00	\$1,200.00	\$2,725.00	\$2,725.00	\$4,500.00	\$4,500.00
15. 13'X8'X8" CONCRETE MAILBOX PAD WITH #3 AT 15" O.C.E.W. OR EQU ON 2" BANK SAND BEDDING (AS DIRECTED BY ENGINEER, LOCATION T COMPLETE IN PLACE	•	1	\$700.00	\$700.00	\$1,500.00	\$1,500.00	\$3,375.00	\$3,375.00	\$5,800.00	\$5,800.00
16. 15'X8'X8" CONCRETE MAILBOX PAD WITH #3 AT 15" O.C.E.W. OR EQU ON 2" BANK SAND BEDDING (AS DIRECTED BY ENGINEER, LOCATION T COMPLETE IN PLACE		1	\$900.00	\$900.00	\$1,800.00	\$1,800.00	\$3,825.00	\$3,825.00	\$6,800.00	\$6,800.00
17. 18'X8'X8" CONCRETE MAILBOX PAD WITH #3 AT 15" O.C.E.W. OR EQU ON 2" BANK SAND BEDDING (AS DIRECTED BY ENGINEER, LOCATION T COMPLETE IN PLACE		1	\$1,100.00	\$1,100.00	\$2,100.00	\$2,100.00	\$4,500.00	\$4,500.00	\$7,800.00	\$7,800.00
SUBTOTAL MISCELLANEOUS ITEMS			•	\$26,736.00	•	\$39,045.00	_	\$44,475.00	_	\$58,890.00
BID SUMMARY										
PAVING ITEMS FOR ANNISTON SECTION 14				\$651,555.60		\$671,955.00		\$723,920.00		\$735,322.85
MISCELLANEOUS ITEMS				\$26,736.00		\$39,045.00		\$44,475.00		\$58,890.00
TOTAL AMOUNT BASE BID				\$678,291.60		\$711,000.00		\$768,395.00		\$794,212.85